( A random sample of 85 utility stocks was taken to compare the amount of their annual dividends to the annualized yields of the dividends. The data are given in following Table.  
a. Find the correlation coefficient.
b. Can we conclude that the variables are positively associated within the population 
      of all utilities? Use α = .05
c. Determine the regression equation and write about equation in brief.
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Symbol Dividend Yield Symbol Dividend Yield
AEP 2.26 7.878 MWE 1.48 6.172
ATE 2.62 6.288 NES 1.92 6.115
AYP 2.92 6.057 NGE 2.64 7.611
AZP 202 9.117 NMK 2.08 9.151
BGE 1.80 5.125 NP1 1.50 6.963
BKH 1.14 4.500 NSP 1.90 5.235
BSE 3.44 6.589 NU 1.68 6.817
CER 2.28 5.909 NVP 1.44 6.292
CES 2.72 6.502 OEC 1.92 9.531
CIN 2.16 7.855 OGE 2.08 5.887
Cip 1.68 6.004 ORU 2.18 5.997
CNH 2.96 8.014 PCG 1.92 7.706
CNL 2.08 5.869 PE 2.20 9.842
CPL 2.68 6.995 PEG 2.96 6.975
CSR 2.14 6.286 PGN 1.96 5.970
CTP 1.40 7.559 PNM 2.92 8.333
v 1.90 7.092 POM 2.36 4.658
CWE 3.00 9.213 PPL 2.60 6.761
D 2.84 6.019 PPW 2.40 6.784
DEW 2.02 5.730 PSD 1.76 7.687
DPL 2.00 7.541 PSR 2.00 10.213
DTE 1.68 9.763 RGS 2.20 8.061
DUK 2.68 5.627 SAJ 1.82 5.175
ED 2.68 5.528 SAV .88 4.704
EDE 1.88 5.697 SCE 2.28 6.549
EUA 2.18 6.195 5CG 2.24 5.716
FPC 2.28 5.402 5DO 2.38 6.162
FPL, 2.04 6.018 SIG 1.96 5.124
GMP 1.80 6.325 SO 2.04 8.133
HE 1.72 5.239 SRP 1.72 6.674
HOU 2.80 8.271 TE 2.52 5.138
1DA 1.80 6.496 TEP 3.30 5.443
IEL 1.94 7.571 TNP 1.32 5.944
IOR 1.60 6.352 TXU 2.68 7.921
1PC 2.64 9.250 ucu 1.48 4.528
IPL 3.04 3.70% UEP 1.84 6.480
Pw 1.96 6.783 UIL 232 7.044
WG 2.90 6.622 uTp 2.32 6.995
KAN 3.16 5411 WPC 2.68 4.604
KU 2.52 5.895 WPL 2.96 5.413
LOU 2.60 6.403 WPS 3.00 5.322
MPL 1.52 5.063 Wwp 2.48 8,360

MTP 2.48 6.232
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